normalized x?

Entries
Mean
Std Dev.

Entries
Mean
Std Dev

Entries
.| mean
Std Dev

Entries
Mean

= [std Dev

Entries

[ normalized

X2 probability ]

Entries 2604
0.5052
0.3019

\‘ ”IH T
i M u il "|
(I

”\um il
0.203040.

< X2/ndf>

Ratio

il

il

i

R

1.8

< Xx2/ndf>

1.6]

1.4

1.2

.y

0.8

Ratio

S :
I 3 1
— F .
S o F ERRRRRE
o E :
o 2:—' """""" H
v
oF g
=3 ;
»
-3 Z g
e g
<F i i i
g - !
S OLSE T A T REERIST -1
e f S A
0.5F - - - HHA T TR FFEEFE - -9 ---- -
0
10

— DO rg'rrra'v—mg'r —TOUOEVT
s DOMoriginal _10( O‘el\ﬂ h
— D M_fm d4.
s DI M:m_cpe'OK
s DOMfit_CpeQK SORTRZZ 1000evt
s DOM_fit cpeOK"SORTRZ2_TESTOUTLIER4_1000evt
=
5 —
g
N
-
(=X
[
Q
kel
\%

Ratio

< x2/ndf>

Ratio

| !iiiiiillihéill
wil

TP n (PCA to beamline)

[y

-2 -1
10 AR(track, jeg’[s)



	Contents
	Page 1


